7Fa IFELTRERO2 Y Y af v M

>conjoint <- read.csv(“group_data.csv”, header=T, fileEncoding="CP932")
>attach(conjoint)

>head(conjoint)

>cor(data [,-c(1,2)])

> outl <- Im(y~star_5+coments_1000+newpicture)

>summary (outl)
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>conjoint <- read.csv(“group_data.csv”, header=T, fileEncoding="CP932")
>attach(conjoint)

>head(conjoint)

>cor(data [,-c(1,2)])

> outl <- Im(y~Brand_Yes+Price_H+Facilities_S+Service_S+Incentives_Yes)

>summary(out1)
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> cr<-cor(datal[,])

> cr
resf6<-factanal(datal,],factors=6,rotation="promax")

> resf6
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> HS.model.c<-'

+ fsei=~seikakul+seikaku3+seikakub

+ ftok=~tokutyou?2

+ fryo=~ryokounosukido1+ryokounosukido2

+ fyo=~yoyaku

L

> fit.cfa<-lavaan(HS.model.c, data=data, auto.var=TRUE,
auto.fix.first=TRUE,auto.cov.lv.x=TRUE)
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HS.model.cfb<-'

+ fsei=~seikakul+seikaku3+seikakub

+ ftok=~tokutyou?2

+ fryo=~ryokounosukido1l+ryokounosukido2
+ ftkin=~kinyuul+kinyuu2

L

>fit.cfb<-

lavaan(HS.model.cfb,data=data,auto.var=TRUE,auto.fix.first=TRUE,auto.cov.lv.x=TRUE)

> HS.model.semb<-'

+ fsei=~seikakul+seikaku3+seikakub

+ ftok=~tokutyou2

+ fryo=~ryokounosukido1+ryokounosukido2

+ fkin=~kinyuul-+kinyuu?2

+ fkin~fsei+ftok+fryo

L

> fit.sem <- lavaan(HS.model.semb, data=data, auto.var=TRUE,

auto.fix.first=TRUE,auto.cov.lv.x=TRUE



